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CHAPTER ONE
((Physiology and sport nutrition))
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( Energy systems

Athletic performance involves a combinations of these energy systems, with usually A’ﬂﬁé%ﬁlﬁ%ﬁ@ﬁggy
one system p.redomlnatlng. For instance, a 100 metfer sprint would mainly use the
phosphocreatine system, whereas a 400 meter sprint would also use anaerobic Phosphate | | Giycolysis
glycolysis. It should be remembered that following these intensive activities, the

Energy for
Contraction

energy from oxidative phosphorylation replenishes the muscle cellular ATP and
creatine phosphate as well as muscle glycogen (via reconversion of lactic acid).
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During endurance exercise, oxidative phosphorylation using fat is the preferential energy source. However
activities above approximately 50% maximum oxygen uptake will require a component of anaerobic glycolysis to
provide the additional energy to maintain the higher workload. The percentage of maximal oxygen consumption at
which additional energy from anaerobic glycolysis is required is termed the anaerobic threshold.
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Likewise, anaerobic glycolysis is necessary for bursts of high intensity activity, such as when running up a hill,
overtaking, or sprinting at the finish line of an endurance run. In stop/ start sports, anaerobic glycolysis provides the
power for sudden, intensive activity, whereas oxidative phosphorylation allows the body to recover and replenish
its high- energy supplies during periods of rest or low- intensity activity.
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Anaerobic glycolysis and the phosphocreatine system provide the initial energy for endurance activity until the
oxidative phosphorylation system turns itself on and reaches a steady state. It can take several minutes for muscle
blood flow, respiration, hormone Secr etion and enzyme activity to reach optimal levels. This oxygen deficit has to

be repaid at the end of the exercise and explains why the body’s metabolic rate and energy production remain high
for a variable period of time after exercise.
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Endurance exercise at levels below the anaerobic threshold is usually not intense enough to cause large amounts of

lactic acid to build up but can certainly deplete muscle and lever glycogen stores. “Hitting the wall” is the term
used in a marathon when glycogen stores run out and exercise intensity suddenly decreases.
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‘ Motor units

The Motor Unit

Although each muscle fiber generally receives only one nerve fiber, a motor nerve Motor  Branches of

motor neurol
i

neuron

may innervate many muscle fibers. This is because the terminal end of an axon
forms numerous branches. The anterior motoneuron and the specific muscle fibers
it innervates are called a motor unit. This is the functional unit of neuromuscular
control. Some motor units contain up to 3,000 muscle fibers whereas others
contain relatively few.

Muscle fiber

2 sbualy
g oo Slwy cmas 9,5 ol Goyb jl a5 Lol SHlas sla)l 5 (lad S5 > g5 05,8 ce Slis amST ALl A cenl goaate Sllais]
)UVOOO = J..oa_.wo ‘5».519- LgLﬁb»‘j )‘ Ga.u J.M:LJGQ LS‘M as Jr.S 60;&“ J.>‘3 ‘G‘EP J.>‘5 UJ‘ aS Qs.wu;z OJJ‘P «‘_,’;\SP »‘5»
A (§ 0S4y 500 o &S g0 40 didl oo (Sl
Motor units are comprised of fibers of one specific fiber type or subdivision of a particular fiber type that have the
same metabolic profile. Consequently, these units can be classified into one of three categories depending on their
speed of contraction, the amount of force they generate, and the relative fatigability of the fibers. Characteristics for
the three categories of motor units: (1) fast twitch, high force and high fatigue (type IIb); (2) fast twitch, moderate
force and fatigue resistant (type Ila); (3) slow twitch, low tension and fatigue resistant (type I).
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The fast — twitch fibers are innervated by relatively large motoneurons with fast conduction velocities. This motor
unit contains between 300 and 500 muscle fibers. These units reach greater peak tension and develop in nearly
twice as fast as slow — twitch motor units. The slow — twitch motor units are innervated by small motoneurons with
slow conduction velocities. These units are much more fatigue — resistant than fast — twitch units. The particular
metabolic characteristics of all fibers can be modified by specific endurance training.
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With prolonged training, some fast — twitch units can become almost as fatigue — resistant as the slow — twitch units.
There is some evidence that the particular neurons themselves have a trophic or stimulating effect on the muscle fibers

they innervate in a way that influences the fibers’ growth and development. Innervating fast — twitch fibers with the
neuron from a slow — twitch motor unit. For example, eventually alters the twitch characteristics of the fast fibers.
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‘ Obesity g \

. . I OBESITY ]
People who exercise regularly, whether walking,
jogging, swimming, cycling or playing team sports, mm/ : ‘:m \‘Mmm
are more likely to be able to carry on exhausting inarcs” iy it I o
work for longer periods of time than sedentary e
people. This is due to 'adaptive responses' made by the
body as a result of regular exercise. Today's mass [%EJ
participation in jogging and distance running is a [ o) . \] s |
strong indicator that people generally value good h 4

Type 2 diabetes
mellitus

| Low back pain |

_ DISABILITY

health and work hard to keep their bodies in good

Shortness of breath

Cardiovascular
disease

working order.
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On the other hand, modern day living with its sedentary life styles and increased leisure time has brought modern
day illnesses such as obesity-a severe overweight condition of the body, defined when a person has an excessive
accumulation of body fat which is more than 20 percent above the norm of his/her height and build. It is a serious
form of malnutrition of the body.
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The physical Effects of Obesity on the Body
Because of the increase in body size, the cardio-respiratory system has to work much harder since more energy is
used in just moving the body mass. In addition, an increase in adipose tissue (fat under the skin) and a decrease in
sweat gland density make it much harder for the vascular system to remove waste heat energy, produced as part of
the process of conversion of food fuel into useful work or energy in the body's muscles and organs.
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This heat energy has to leave the body from the skin surface, and therefore a thick insulating layer under the skin

will tend to restrict flow of heat outwards. This means that the heart has to work harder to pump blood faster round
the circulatory system, so that heat energy, carried by the blood, can be released more rapidly near the skin surface.
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CHAPTER TWO
((Kinesiology and sport biomechanics))
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‘ Kinesiology

Literally, the word ‘kinesiology’ can be separated into its roots of ‘ology’
(science of) and ‘kinein’ (to move). Unfortunately, the resulting definition,
‘science of movement’, istoo broad to be useful to say that one is studying the
science of movement could indicate anything from human anatomy to motor
learning or exercise physiology. Kinesiology is however, uniquely different
from al other movement sciences in that its focus is upon knowledge of the
mechanics of movements which emer ge from the blending of the knowledge
of human anatomy with that knowledge, basic to the study of physics.

BICEPS
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For example, in kinesiology, one learns to relate the facts of muscular origin and insertion of anatomy to such
concepts as joint axis and angle of insertion in order to explain the actions of a given muscle. One learns, also, to
relate muscle actions and joint positions to the demands of successful performance in sport. Kinesiology is seen
then, to be comprised of two subareas: the first is concerned with the production of movement or lack of
movement by the muscles of the body; and the second, with events which result from the application of
muscular force. The first subarea is known as ‘ Anatomy of Human Motion’, while the second is referred to as
‘Mechanics of Human Motion’.
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‘ Roles of Muscles
Assistant Mover Neutralizers

A muscle can only contract or relax, and under normal conditions contraction | AniemerDelod o Gu busces
results only from a series of nerve impulses. A muscle may contract fully or L - Al
partially, with maximum force or less. A muscle may contract isometrically
or isotonically, singly (in rare instances) or as a member of a group. Because
muscles can contract in these different ways, they have the ability to act in

Antagonist

different roles and to change quickly from one role to another. B -osierior Deitoi
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Roles of Muscles
At any given time, a particular skeletal muscle may play the role of agonist, antagonist, stabilizer or neutralizer. It
may change from one role to another instantly, and during a motor performance, a particular muscle may function

in al the different roles at different times. The role of a muscle is determined by its particular function at a given
time during performance.
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Agonist(mover) Role
A muscle is a mover (agonistic to the movement), when its concentric contraction contributes to the desired
movement of a segment of the body. For instance, in flexion at the elbow, the biceps brachi is amover, as are seven
other muscles in this case. Some muscles are movers for more than one action in a particular joint, and some cause
movements in more than one joint. For instance, the biceps brachi may cause elbow flexion, shoulder flexion, or

lower-arm supination, depending on the simultaneous actions of other muscles. If the biceps contracted singly, all
three of its movements would occur simultaneously.
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If only one or two of the movements are desired, the other movements may be omitted by the coordinated contractions
of other muscles. When thisis done, the other muscles are said to neutralize part of the functions of the biceps. Mover
muscles are classified as prime movers and assistant movers. A prime mover is a muscle whose chief function isto

cause the particular movement and one which makes a strong contribution to that movement. An assistant mover is a
muscle which hasthe ability to assist in the movement but is of only secondary importance to the movement.
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An example is the triceps brachi, a prime mover in elbow extension but only an assistant mover in shoulder
extension. In shoulder extension, the latissmus dorsi and teres major muscles are the prime movers,; when the load
is heavy, the triceps muscle (along with others) is called upon for assistance. There is usually more than one prime
mover in a particular joint action, and there are often several assistant movers. There are prime-mover muscles for
all the movable joints, and there are assistant movers for most of the joints.
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Antagonist Role

A muscle is antagonistic to a movement when it must relax to alow
the movement to occur. Antagonistic muscles cause actions opposite
those caused by the agonist muscles. The triceps brachi is antagonistic | when the arm

to flexion at the elbow; therefore, the triceps must relax in order to | ™" scapula
alow flexion to occur efficiently. It is possible to achieve flexion
against triceps opposition if the force of the flexors exceeds that of the bicepa =
triceps. However, this is inefficient unless a controlled movement is sl fih

needed. In elbow extension the triceps becomes an agonist and the
biceps an antagonist; in other words, the biceps and triceps are
antagonistic to each other. Generadly, extensors and flexors are
antagonistic to each other, as are abductors and adductors and medial ‘ -
rotators and lateral rotators. In motor performances it is important for T
antagonistic muscles to experience just the right amount of controlled
relaxation to permit smooth and efficient movements. This is an
important aspect of heuromuscular coordination.

relaxed
triceps

radius
muscle
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Stabilizer (Fixator) Role
In order for asegment of the body to move, the body part on which the segment moves must possess the right amount of
stability. For instance, when the arm moves at the shoulder joint, the shoulder girdle must be held firm by the contraction
of certain muscles which attach to it. Without being stabilized, the shoulder girdle would move and thus reduce the
effectiveness of the force which the muscles of the shoulder joint exert on the arm. The same could be said about
movement of the leg around the hip joint (the pelvic region must be stable) or about movement at numerous other joints.
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When acting as a stabilizer, a muscle usually contracts statically (isometric aly) because its role is to hold the body
segment motionless or nearly motionless. Therefore, the muscle shortens very little, if any, during its contraction,
and it causes very little, if any, movement. A clear example is the action of the abdomina muscles during floor
push-ups. If these muscles did not contract statically, the trunk would bow, causing the exercise to be performed
incorrectly. Another important fact to remember is that muscles make major contributions toward stabilizing joints.
Even though it is ligaments that bind the bones together at a joint, muscles whose tendons cross over the joint
contribute much to stability, and thus muscles help to prevent injuries to joints.
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Neutralizer Role

A muscle plays therole of neutralizer when it equalizes or nullifies one or more actions of another muscle. To neutraize
each other, two muscles must cause opposite movements. For example, the pectoralis mgjor and the latissmus dors
muscles are both movers in adduction of the humorous; in addition, the pectoral is major flexes the humerus while the
latissmus dors extends it. When the two muscles neutralize each other’ s functions of flexion and extension, theresult is
pure adduction. Another example occursin the sit-up exercise where the right and left external oblique muscles combine
to contribute to trunk flexion, neutraizing each other’ sfunctionsin trunk lateral flexion and trunk rotation.
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Besides causing forward trunk flexion, the right external oblique muscle, if contracted singly, would laterally flex the
trunk to the right and rotate it to the left. The left external oblique muscle would laterally flex the trunk to the left and
rotate it to the right. In other words, the two muscles perform one common movements, trunk forward flexion and two
opposite movements, trunk lateral flexion left and right and trunk rotation left and right. To cooperate in forward trunk
flexion, the two muscles neutralize each other’ sroles aslateral trunk flexors and rotators.
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Occasionally, a portion of a muscle must neutralize another portion of the same muscle. An exampleis the contraction
of the deltoid muscle to abduct the humerus. The anterior portion of the deltoid also causes horizontal flexion, while
the posterior portion aso causes horizontal extension. The horizontal extension and flexion movements are
neutralized when pure abduction is performed. Further, the anterior deltoid rotates the humerus inwardly, and the
posterior deltoid rotates it outwardly. These rotations are also neutralized in pure abduction of the humerus. Often
neutralization is responsible for guiding the direction of movements and thus contributing to accuracy. An underarm
action at the shoulder joint such as a bowling delivery, for instance, primarily involves a flexion movement while
abductors and adductors balance tendencies to move left or right as the arm proceeds forwards.
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Synergistic Role

The term synergist has been used in so many different ways that it has become confusing and ambiguous. For example,

some kinesiologists have used it to describe an assistant mover, and others have used it to describe a neutralizer. Some

sources have even implied that a muscle which plays a secondary role in stabilization is a synergist. Because of the
confusion associated with the term, it has been purposely omitted from use in this text, except for this explanation.
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‘ Anatomical Aspect of Human Motion

As our ability to analyze motion has progressed, so has our terminology. It is
recognized that the many words used in conjunction with the study of
human movement maybe confusing to the student of the science-perhaps
they are equally confusing to the professional. What is the difference
between kinesiology and biomechanics? How do statics, dynamics, kinetics
and kinematics relate to the study of human movement? What are
electromyography and cinematography? How does the study of forces relate
to the science of movement? Let us answer the foregoing questions in order.
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Regarding the difference between kinesiology and biomechanics, kinesiology can be defined broadly as the science
of movement. It takes its base in a thorough knowledge of the anatomical and muscular structures of the human
body. It is only when these have been mastered that mechanics of motion are introduced. Biomechanics, on the
other hand, would appear to assume that its devotees aready have a sound grasp of an anatomical and muscular
knowledge and can proceed with an in-depth study of movement mechanics. There is obviously some overlap in
the materials embodied by the titles of the two sciences. Whereas the kinesiologist is attentive to the mechanics of
movement, he treats it somewhat superficialy and only after anatomical considerations have been mastered.
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The biomechanist enters at this point and with the kinesiologist’s background, focuses upon the mechanics of
movement and explores with all depth possible. The term statics, dynamics, kinetics and kinematics have appeared
since we began to use biomechanics as a scientific descriptor. Statics refers to the branch of biomechanics that is

concerned with equilibrium- that is, the sum of al moments must equal zero. Such a concept may seem foreign to
the uninitiated; it needs not be so.
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The basic formula of statics translates simply that with a seesaw situation in which two children of equal weight are
sitting at equal distances from the axis of the seesaw, no movement will occur. The seesaw is balanced.
Equivalently, if the force of the buoyancy equals the force of gravity, a body will neither sink nor rise. Also, any
pull or push that is matched by one of the same force will yield no movement. In each of these examples, the sum
of the moments of force is equal to zero. In other words, each moment of force is neutralized by an equal and
opposite moment. So it iswith the subscience of statics.
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Dynamics is the name of the biomechanical branch of interest that is concerned with movement and its velocity,
acceleration and associated for ces. Subheadings of biomechanics are kinetics and kinematics. Kinetics includes
that portion of dynamics that is concerned with body mass and with muscular forces that are applied to move that
mass. To determine the position of the center of mass of a long jumper or to analyze the arm action of a high
jumper is to study kinetics. Students of kinematics do not concern themselves with the causes of motion but rather
with the results of the causes. Projection paths of sport implements as well as of the body itself come under their
close scrutiny. Spin and rebound are also of interest as are the principles of aerodynamics.
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Electromyography and cinematography are tools for the
gathering of kinesiologica and biomechanicad data
Electomyographic records are taken through specid
electrodes of contracting or resting muscles. Determinations
can be made regarding the strength of a muscle's contraction,

the beginning and duration of contraction and, indeed whether
contraction is occurring at all.

Electromyography
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Cinematographic data are film records made with motion picture cameras.
The films are usually exposed at high speeds in order to yield a slow-motion
quality when they are projected. Analysis of a sport movement is obviously
enhanced because of the slowing of motion and aso because the films
provide a discrete and permanent record that can be restudied at will. The
study of forcesis basic to the analysis of human movement. The gathering of
force datais done through the use of special instrumentation that is sensitive
to pushing or pulling. Peak forces as well as force profiles over time can be
recorded to determine, for example, whether there is a differenceinthe grip | ] )
strength of the right and left hands of highly skilled golfers, or to specify the Cinematography
amounts of force applied to the ground by a sprinter Between heel-down
and toe-off of the supporting foot.
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‘ Vocabulary

Accuracy: (n) By

the ability to do something skillfully without making mistakes # inaccuracy

T\ Example: She hits the ball with great accuracy. 05 400 g0l o b ogs a gl
Acquire: (v) 0 S
to gain something by your own efforts

& Example: She has acquired a good knowledge of English. el 03,5 S Sl (a0 295 il
Adverse: (adj) o (Ao

negative and unpleasant
W Example: Lack of money will have an adverse effect on our research programme.
ails aalys e i saslp (59, p sike U Jg olid

Adjust: (v) 0005 pedidd (30,5 Jawi (0 S sl
to change something slightly to make it more suitable for a new set of conditions or to make it work better

& Example: This button is for adjusting the volume. Cewldio 58,8 wlas gl aaSs oy
Aquatic: (adj.) <!
connected with water

W Example: Aquatic sports are beautiful. Axied Lo ol slogss s
Anxiety: (n) R\ C - VY

the state of feeling nervous

T Example: Some hospital patients experience high levels of anxiety.

Attend: (v) O 4y
to pay attention

W Example: She tried to attend to what the man was saying. QIS Ax g S e Sye ] AT ass] 4 aS 0 S aw
Auditory:(adj) g

relating to the ability to hear
T Example: Smart people use their auditory sensation in the best way.

QS oo olainl 955 o g 4 lislend s 3l Ggals ol 3

Awar eness:(n) BT
the ability to notice something using your senses

W Example: An artist’s awareness of light and color. 55y 9,9 5l e e 5T
Accomplishment: (n) JES TS
an impressive thing that is done or achieved after a lot of work

= Example: Winning two prizes was a great accomplishment. Dy Sy Carbge ol 90 0
Adamantly: (adv) e lowws b il o

determined not to change your mind or to be persuaded about something

& Example: He was adamantly opposed to new taxes. Sg @lbre oz sl b asbisen
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Appropriate: (adj,v) b
suitable

T Example: This suit is not appropriate for tonight's party. s canmlin el Slogo 51 Wl (]
Alertness:(n) Sologa

giving all your attention to what is happing
& Example: Because of the memory of rubbery she couldn’t lessen her alertness during the night.

s gals il bojo ) o lidgr cudlgs sed gl (5050 o,bls cle 4

Behavior: (n) HLd,
one's attitude and manners

W Example: She was ashamed of her children's bad behavior. S o s ilaazs 0y ) 5l
Brief: (adj) oligs
a short time, short

W Example: Leili’s life was brief. o1 ol L S
Coach: (n) e

a person who trains people in sport
T Example: Why is it essential for the coach to understand the athletes' needs?

fowl (55970 D355 sosls Houatd c o0 Su sl Lz

Competent: (adj) Ao Lo (@Y Mol
having the necessary ability

™\ Example: He is a competent doctor. sl Com Mol conds S
Cognitive: (adj) T

related to the process of knowing, understanding, and learning something

T Example: Cognitive psychology is one of the courses of clinical psychology.

o ‘Sﬁ-AJlJ @*’Lﬂ““j) le.{bo)}c] )‘ é) SA}LMM L_s“"’l""‘“‘"lﬁ)

Consciousness:(n) YL IS 39 S
the condition of being awake and able to understand what is happening around you

W Example: David lost consciousness during running. Blo Cawd 5l auge plKm 1) o Liden g0
Chastise: (v) 055 Ao
to criticize somebody for doing something wrong

W Example: He chastised the team for their lack of commitment. 8,5 4 g pae fdos 1y o5
Comparison: (n) o Lo

the process of comparing two or more people or things

W Example: I enclose the two plans for comparison. polo 18 anslie 01, 7 b 93 5o
Criterion: (n) S
a standard or principle by which something is judged, or with the help of which a decision is made

& Example: What criteria are used for assessing a student’s ability?
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Chide: (v) 055 W
to criticize or blame somebody because they have done something wrong

W\ Example: She chided herself for being so impatient with the children. 5,5 (255w bas b Sy bl |, 3055 4

Competence: (n) i L Do
(also less frequent Competency): the ability to do something well

W Example: To gain a high level of competence in English oSl 5o Kol mhans 0 YL 05 s &
Constant: (adj, n) <ol o g0dls
that does not change, fixed

& Example: Travelling at a constant speed ol Sy S L oS Lhw
Direction: (n) o Cfe>
the general position a person or thing moves or points towards

T Example: Soldiers scattered in all directions. Do oSy ga ,2 4 3l e
Deficiency: (n) SgueS
the state of lacking something necessary

W& Example: Vitamin deficiency can lead to illness. D9 e (6 lew 4 Wl oo ualing SgueS
Defeat: (v) 0355 walio (35 ale
to win a victory over someone in a war, competition, game, etc. = beat

& Example: We were defeated by 3 goals to 2. PURV NP SUV PR SSIICON A
Deteriorate: (v) Oy o 3 ey S <

to become worse

W Example: Her health deteriorated rapidly and she died shortly afterwards.

Dy (2lsS S 5l gl g ) ol e 4y Bl S

Delivery: (n) sy oliy
a ball that is thrown, especially in cricket or baseball

& Example: He had a fast delivery. Sl gr e Sy
Distraction:(n) S ole g euldS Oy Jole

something that stops you paying attention to what you are doing.
& Example: I study in the library as there are too many distractions at home.

ALl 025 (6oL sl Gy e Al 0 aS |y oS o axlllas 4lulS o e

Discrete: (adj) 350 ¢ y2x0
separate

W& Example: The organisms can be divided into discrete categories. gl o [jze Slids 4 aSlgs oo Lo yloles
Defensive: (adj ,n) ELIRY
behaving in a way that shows that you feel that people are criticizing you.

W Example: A team that plays a very defensive game Dyl 285 (o5b A e
Extrinsic: (adj) S9N

coming from outside
W™ Example: Extrinsic rewards are good indications of how much the athlete is valued by the team.
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Enthusiastic: (adj) Gliie
feeling or showing enthusiasm
T\ Example: He doesn't know much about the subject, but he’s very enthusiastic.

ol gl L Ll cxils sad g9 90l 50,450 (s0L5 sz o

Exorbitant: (adj) SIS ol bl 3
an exorbitant price, amount of money etc is much higher than it should be

W\ Example: The workers' demands were exorbitant. D3dgs saal b3l ]SS slaaiulys
Exceed: (v) 55 39l
to be greater than a particular number or amount

W\ Example: The weight of your suitcase exceeds the legal limit. el jglie S8 a5l L o 59
Engrossi(v) 3955 ey S i

if something engrosses you, it interests you so much that you do not notice anything else

W Example: The view was stunning and for a time engrossed all our attention.

0,8 Ll 093 4 1y b axgs pled S sl g 09 49l 0,late

Exhibit: (v) ool &1yl e ydls i les
to show something in a public place

W Example: He exhibits regularly in several local art galleries. Slase Gioled e 5y 6 JE iz 0 plaie jsb gl
Exaggerate: (v) 03098 ol aidloo (0,5 (5l <1
to make something seem longer, better, worse or more important than it really is

W Example: The hotel was really filthy and I’'m not exaggerating. oS o0 gl e g 99 xS Ll Jia
Enhance: (v) OOR Yy S yige
to increase or further improve the good quality, value or status of somebody or something

. Example: Those clothes do nothing to enhance her appearance. 258,55 e |y oyl la el o
Fatal: (adj) Slgeo oS

resulting in someone’s death
W& Example: If it is not treated correctly, the condition can prove fatal.

A dalys 0iiS Cundg waid leyd o Hgbas o] S
Fascinated:(adj) Oy SodBe (yuud gdze

extremely interested by something or someone

W& Example: I was fascinated by his dribbling. oo gl Juyd Ggdme e
Fundamental: (adj) LS
forming the necessary basis of something

W Example: Hard work is fundamental to success. ol Coddge (Ly) (wlol ayus IS
Feedback: (n) 33953
advice

W& Example: The teacher will give you feedback on the test. Sl aalgs 1) el 0,95 5L Loy 4 olao
Handstand: (n) oWVl S >

a movement in which you balance on your hands and put your legs straight up in the air

T\ Example: Handstand is one of the gymnastics skills. el Stolinsy Lo g 51 (o VU
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CHAPTER SIX
((Exercise Fields))
« w339 SRaw

‘ Football

The game of football is one of several similar team sports, of similar origins

which involve, to varying degrees, kicking a ball with the foot in an attempt
to score a goal. The most popular of these sports worldwide is football
association, more commonly known as just "football" or "soccer". The word
football applies to whichever form of football as the most popular word in
each particular part of the world including American football, Australian
football rules , Canadian football, Gaelic football, rugby league, rugby union
and other related games. These variations are known as "codes."
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Common elements
The various codes of football share the following common elements:
e Two teams of usually between 11 and 18 players; some variations that have fewer players (five or more per team)
are also popular.
o A clearly defined area in which to play the game.
e Scoring goals or points, by moving the ball to an opposing team's end of the field and either into a goal area, or
over a line.
¢ Goals or points resulting from players putting the ball between two goalposts.
o The goal or line being attacked by the opposing team.
e Players being required to move the ball—depending on the code—by kicking, carrying, or hand-passing the ball.
e Players using only their body to move the ball.
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In most codes, there are rules restricting the movement of players offside, and players scoring a goal must put the ball
either under or over a crossbar between the goalposts. Other features common to several football codes include: points
being mostly scored by players carrying the ball across the goal line; and players receiving a free kick after they take a
mark or make a fair catch. Peoples from around the world have played games which involved kicking or carrying a
ball, since ancient times. However, most of the modern codes of football have their origins in England.
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Etymology
While it is widely assumed that the word "football" (or "foot ball") references the action of the foot kicking a ball,
there is a historical explanation, which is that football originally referred to a variety of games in medieval Europe,
which were played on foot. These games were usually played by peasants, as opposed to the horse-riding sports
(such as polo) often played by aristocrats. There is no conclusive evidence for either explanation, and the word
football has always implied a variety of games played on foot, not just those that involved kicking a ball. In some
cases, the word football has even been applied to games which have specifically outlawed kicking the ball.
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‘ Volleyball

Volleyball is an Olympic team sport in which two teams of six players (g
are separated by a net. Each team tries to score points by grounding a ball
on the other team's court under organized rules. The complete rules are
extensive. But simply, play proceeds as follows: A player on one of the
teams begins a 'rally' by serving the ball (tossing or releasing it and then
hitting it with a hand or arm), from behind the back boundary line of the
court, over the net, and into the receiving team's court. The receiving
team must not let the ball be grounded within their court. They may touch
the ball as many as three times.

Typically, the first two touches are to set up for an attack, an attempt to direct the ball back over the net in such a
way that the serving team is unable to prevent it from being grounded in their court. The rally continues, with each
team allowed as many as three consecutive touches, until either (1): a team makes a kill, grounding the ball on the
opponent's court and winning the rally; or (2): a team commits a fault and loses the rally. The team that wins the
rally is awarded a point, and serves the ball to start the next rally.
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A few of the most common faults include:
e causing the ball to touch the ground outside the opponents' court or without first passing over the net;
e catching and throwing the ball;
e double hit: two consecutive contacts with the ball made by the same player;
o Four consecutive contacts with the ball made by the same team.
The ball is usually played with the hands or arms, but players can legally strike or push (short contact) the ball with
any part of the body. A number of consistent techniques have evolved in volleyball, including spiking and
blocking (because these plays are made above the top of the net the vertical jump is an athletic skill emphasized in
the sport) as well as passing, setting, and specialized player positions and offensive and defensive structures.
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TheOrigin of volleyball

On February 9, 1895, in Holyoke, Massachusetts (USA), William G. Morgan, a
YMCA physical education director, created a new game called Mintonette as a
pastime to be played preferably indoors and by any number of players. The game took
some of its characteristics from tennis and handball. Another indoor sport, basketball,
was catching on in the area, having been invented just ten miles (sixteen kilometers)
away in the city of Springfield, Massachusetts, only four years before. Mintonette was
designed to be an indoor sport less rough than basketball for older members of the William G. Morgan
YMCA, while still requiring a bit of athletic effort.
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The first rules, written down by William G Morgan, called for a net 6 ft 6 in (1.98 m) high, a 25x50 ft (7.6x15.2 m)
court, and any number of players. A match was composed of nine innings with three serves for each team in each
inning, and no limit to the number of ball contacts for each team before sending the ball to the opponents’ court. In
case of a serving error, a second try was allowed. Hitting the ball into the net was considered a foul (with loss of
the point) -except in the case of the first-try serve. After an observer, Alfred Halstead, noticed the volleying nature

of the game at its first exhibition match in 1896, played at the International YMCA Training School (now called
Springfield College), the game quickly became known as volleyball (it was originally spelled as two words: "volley
ball"). Volleyball rules were slightly modified by the International YMCA Training School and the game spread
around the country to various YMCAs.
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‘ Basketball

Basketball is a team sport in which two teams of five players try to score points by
throwing or "shooting" a ball through the top of a basketball hoop while following a set of

rules. Basketball is one of the most popular and widely viewed sports in the world. A
regulation basketball hoop consists of a rim 18 inches (45.7 ¢cm) in diameter and 10 feet
(3.05 m) high mounted to a backboard. A team can score a field goal by shooting the ball
through the hoop during regular play. A field goal scores two points for the shooting team
when a player touches or the hoop or stays in the three-point line area, and three points

(a "3 pointer") if the player is "outside" the three-point line.
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The team with more points at the end of the game wins, but additional time (overtime) may be issued when the
game ends with a tie. The ball can be advanced on the court by bouncing it while walking or running (dribbling) or
passing it to a teammate. It is a violation (traveling) to walk with the ball, carry it, or to double dribble (to hold the
ball and then resume dribbling). Various violations are generally called "fouls". Disruptive physical contact (a
personal foul) is penalized, and a free throw is usually awarded to an offensive player if he is fouled while
shooting the ball. A technical foul may also be issued when certain infractions occur, most commonly for
unsportsmanlike conduct on the part of a player or coach. A technical foul gives the opposing team a free throw.
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Basketball has evolved many commonly used techniques of shooting, passing, and dribbling, as well as specialized
player positions and offensive and defensive structures (player positioning) and techniques. Typically, the tallest
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members of a team will play "center", "small forward", or "power forward" positions, while shorter players or those
who possess the best ball handling skills and speed play "point guard" or "shooting guard". While competitive
basketball is carefully regulated, numerous variations of basketball have developed for casual play. Competitive
basketball is primarily an indoor sport played on carefully marked and maintained basketball courts, but less
regulated variations are often played outdoors in both inner city and rural areas.
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CHAPTER SEVEN

((Reading Comprehension))
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Heart attack might happen because the amount of blood the muscles need is very low. This is commonly caused by a
blood, clot blocking an artery in the heart. Heart attacks can be mild or very severe. If you see somebody who has a
pain in his chest, call for medical help immediately, because he may have a heart attack, especially if he smokes a lot.
™ Example 1: What isthe Main idea of the text?
1) the heart 2) smoking 3) healthy habit 4) heart attack
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W Example 2: In which part of the passage we find the relationship between heart attack and smoking?
1) in line 1 2) in line 2 3) in the last line 4) it is not mentioned
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For the first years of her life, Helen keller was any other pretty baby in everything. Then a sudden illness destroyed
her sight and hearing for the next seven years. She lived in the world of darkness, without sound of voice. The

person who entered Helen’s life at this age and changed her world, was Anne Sulivan. Miss Sullivan had accepted
a job which seemed impossible, but she helped Helen a lot.

& Example 3: How old was Helen when the disease attacked her ?

1) two years old 2) one year old 3) seven years old 4) six years old
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T Example4: Shelived in theworld of darknessin line 3 means:

1) she liked darkness 2) she hated darkness
3) she was blind 4) she lived in a darkroom
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W Example 5: Theworld “accepted” in line 4 could be best replaced by:
1) rejected 2) admitted 3) prevented 4) provided
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1) stated / explicit 2) implied / implicit 3) restated 4) referent  5) main idea
6) inference 7) negative form 8) vocabulary 9) title 10) organization

John likes to go to the mountains on Saturdays. He likes to spend one day a week outside the city. He thinks that
the air in the city is dirty and full of smoke but that in the mountains you get clear, fresh air. “Climbing is also a
very good exercise”. He says “This program is very valuable.” On Saturdays he wakes up very early in the morning
when it is still dark. He usually takes a knapsack full of the things he needs. He often takes canned food, and some
fruit. In winter he also takes some warm clothes with him. John doesn’t like to go to the mountains alone. He
spends most of the day in the mountains. He has lunch there, and after taking a rest, he returns home in the
afternoon. When he comes home, he is very tired. He prefers to take a shower, have a small dinner, and go to bed
early. In the morning of the next day, he is happy and ready to start work.
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1) The passage (text) statesthat ... 2) It isexplicitly mentioned that, ...

3) Thetext saysthat ... 4) It isstated in the text (passage) that ...
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T Example 6: Thetext statesthat John ......... .

1) goes swimming on Saturday 2) climbs the mountains on Saturdays
3) climbs the mountains on Fridays 4) goes out every day
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1) It is implied in the text that 2) According to the passage ...
3) The writer implies that ... 4) Which one is (not) implied in the text ...
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W Example 7: Which oneisimplied in the text?

1) John wakes up early morning. 2) John spends most of the day in the mountain.
3) He says climbing is very tiring. 4) He goes to the mountains with his friends.

stated gg5 5l sl e ;0 Tads (V) 5 (V) sloan 35 oS o oy |y a3 5SS Mg ol 0 00l el sl «F» a5 1wl |
CF» 4y 35l ol 5o 55 oyte SedS L g ol Slal (e 45 €Canl 0aisS a5 (69,9285 45 WS oo g (F) 35 . implied & wes
DS e Ol e 5 Pusl e b ) T e pgd a3 e (Jy el 0 53 (e 5 4355 ol oo €09 00 035 4 tiliugs L 5
655 o3l o] e 4y Ylazs| ol aSyl i 39,0 LS 4 LS 5l Cewgs l> “John doesn’t like to go to the mountains alone”

s e alosl 1 IS ol (Lislisgs)

S O O o
Restated (o0is 51,55 | o0uls 9SG Y I3m0) ¥

Ao 55 olsgl oS aidl.ccwl snwl Ll 5low b 3 50 a8 axien dlae 1,85 a5 112 098 co <L ke 5o ooy a0 OYl5a 4355 00l uly
it 9>l (glalex Sy polae g Jseme Sl b (xope

W Example 8: Why climbing is valuable for John?

1) It is full of smoke. 2) it is good for his health.
3) The mountain is very clear. 4) They city is very crowded.
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™ Example9: "There" inline6refersto............ .
1) most of the day 2) mountains 3) lunch in the montain 4) taking a rest
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1) What isthe main idea of the passage? 2) What'sthewriter's purpose?

3) Thetext mainly suggeststhat... . 4) What isthe main topic of the passage?

T Example 10: What is the main |dea of the passage?
1) John is a mountain climber. 2) Eating lunch in the mountain is good.
3) Climbing helps you get healthy. 4) Climbing is possible only on Saturdays.
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